Q. 1
A distinct feature of the correlation matrix is that

A) the correlations in the main diagonal equals the covariances in the main diagonal of the covariance matrix

B) the correlations in the main diagonal are unstandardized variances. 

C) the correlations are unstandardized covariances. 

D) the correlations in the main diagonal are all equal to one

E) it is always equal to the covariance matrix

Q. 2
You are working with the following sample covariance matrix

               var1:       var2:
   var3:      var4:
var5: 
    var6: 


    var1:  1.3200    0.4412    0.3863    0.5128    0.4844    0.5746

    var2:  0.4412    1.3890    0.4301    0.3795    0.5657    0.5130

    var3:  0.3863    0.4301    1.0450    0.5208    0.4504    0.4863

    var4:  0.5128    0.3795    0.5208    1.3701    0.6691    0.7814

    var5:  0.4844    0.5657    0.4504    0.6691    2.0550    1.0406

    var6:  0.5746    0.5130    0.4863    0.7814    1.0406    2.1405

What is the value of 
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s

 ?

A) 0.4412  

B) 0.4301

C) 0.5130

D) 0.3795

E) 1.3701

Q. 3

Use the information in Q. 2 to determine the standard deviation of var5

A) 1.1705

B) 1.4335

C) 0.7217

D) 1.1786

E) 1.1634

Q. 4

Use the information in Q. 2 to determine the correlation between var1 and var5 

A) 0.2941

B) 0.2679

C) 0.1626

D) 0.3258

E) 0.1786

Q. 5
The following assumption is central in OLS regression 

A) The x variables are independent of the error term

B) The x variables are not correlated

C) The x variables are not correlated with the y variable

D) The x variables have to be continuous 

E) The error term is zero 

Q. 6

The only descriptive measure of goodness of fit in regression analysis is 

A) the t-statistic

B) the F-statistic

C) the value of the significance level

D) P-value

E) the R
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Q. 7

Consider a simple regression model. An important assumption underlying the OLS estimation technique is that the 

A) the constant term is equal to zero

B) the variance of the residuals is equal to zero

C) the independent variable is normally distributed 

D) the variance of the error term is constant 

E) the mean of the independent variable equals zero  

Q. 8

A medical researcher is interested in determining whether the probability of a heart attack can be predicted given the patient’s blood pressure, cholesterol level, calorie intake, gender, and life style. 

What is an obvious choice of statistical technique to address this issue?  

A) Factor analysis

B) SEM-modelling

C) Logistic regression

D) OLS regression analysis

E) Comparing mean values
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